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1. The Internet is a name for an internet that spans the .....\AJQ @A D,

2. UON . NEAMANN, computer is considered as the basis for the modern computers because it has stured
program concept and single memory for data and instructions.

3. A section of a program to be executed by one process at a time is called ..... AT AL &0

4. For atypical system, AN ... means providing the raw capabilities to the user to achieve their goal,
however, allowing the user to learn and to use these raw capabilities easily is ... (ASABI AT ...

5. Text-based user interfaces to communicate with the operating system is generally called ..... .23 % =
6. AfAL ~E\.2€.. is used for 1-bit storage in computer hardware.

7. A memory consists of cells, each of which can store % . bits, and that is equal to _:L byte(#.

8. Frames capturing the scene in an animation at specified points in time is called ...... Le1aeAvE

9. Networks are classified in terms of scope as LS /AN VLA ,and ....\AJ AN

...................................................

10. Rendering pipeline in computer graphics generally starts with ... CLape 1N & based on viewing volume.
11. A memory area used for the temporary storage of data is called ....... B R

12. . DVENLE.LE ... occurs when a value is too big to be represented generally after addition or
multiplication.

13. A set of steps that defines how a task is performed is called e P RATEOD.

14. B 1. e ADEYZ.... is run by the CPU when power is turned on and it transfers operating system from mass
storage to main memory.

15. .. P-oVATLEIZ.... connects two incompatible or compatible networks resulting in a network of networks.
16. Which of the following hexadecimal numbers represents a negative number in two’s complement notation?
31«9' by Vs Ao
Aos 4.
b) 16 c) 7B d) 56
17. First full-length animation filmis ....... LU= Bt £ =~ % S

18. In public-key encryption, P L. key is used to encrypt messages, whereas .[2RA A TE key is used to
decrypt messages.



